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SSC-01 : GUJARATI CONTENT

1 (AL UAS Usnl 2541 GuR @il ¢ 8

(1) ““dn Do) ¢, M1 - sl ABAUSIR saldl dril A5, A
il

(2)  2uuen Al ™Hasdd <um aull, d 4l 20dg ® A oseud.
(3) S S dala-ir Auisl sdl Asey sdl ?
(4)  “sud Aaul 4.7 sl s sud g-3 ANy & ?

2 {lAA wadlmidl SIS vl AR (04) UsAAL FAL L 12
(1) cus@A o w2 sy 8 ?
(2)  acaMmeuS ‘AR’ Bre S8 xuA sA 21 ?
(3) s @l Gelrdid sl s3A.
(4)

4)  ‘adl Al oanl sulddl AuisHl was wedl yaddlpi [

Al Quil.

(5)  ““audl oy Gadl suin awll o)’ - 24 [RELA Als Al desl
U YHAAL.

3 A wsdmil AS el AR (03) Uil Rirgd G 2l ¢ 15

(1) “‘oldnil ua” dleni salaldla “Hgeudisil HREHY dHIL AsEML
qeldl.

(2)  NAA uadlAL YA ol G Quil ¢
(1) 20hel 68l Brsd 20 451 w8l Hoxer ao(lsaL 53 :

QUHOUM, 9, HIZHIL, 2ueu

(o) N1A 1l s Aot RANRIA USR Qv :

Ae dud, WMl Rendl, Gidl usdl, Ug oums
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(5) WA USR 2R @l

Alu-, [Roaaei, Hiss, uuqll.

(8) 0 200 Asd SR A 58 B A @il
“Eld | oud 1 Agy | 2uugl oid il el &l 17

(§) 3§ A
(1) (et)
(1) i3 eRd-i R (1) »d3e Aael
(2) €lsel HiR-R (2) o aseiz
(3) wz2d sAA (3) AnAW Y3

(3) “‘alien YR W7 ¥R e Al avil.

(4)  “‘uei oAel o doell” disallani Ydd Al ALRsIAL (ian
dHIL AL qgldl,

(5) <02 200el Haril 2R AdldviA 530, dA 41U s 2L

Alrlgd ouM, AAsul %A, Bl WAL My, UHEALS AN,
AL MY, AUAS3L eua s Rl gkl vadlHigll Gsidl od, Hidi-l
oSl elAld M1 MU, FRLEHl Pl v €14 o, Rl 012
ALsS, SMAA eltens [l glrl 14 Hsq, Hidi-l [y, d2um dlsl
glRl Uil olelgd-l ae A !
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SSC-02 : HINDI CONTENT

frfaiaa el & ITx AT 8
(1) ofq d9aX § w1 aed T 7

(2) “omE I@ET T @ P gAY H 7Y IHY AR WAN BT |

(3) <mET WAl @l fhddl ST @M @ ?

(4) g feaw @wg @ sfaftd W WY @Rl 7

fepel TR 9ol & IR AW : 12
(1) g fowra o Afearetl &1 &1 aFEE & 7

(2) W TEIGISH F AT § ¥ BF-BE T GO TS B Thd & 7
(3) ¥R fped =X & ST Aed 7

(4) w9z ¥ Far w7 awor ReAT ¥ 7

(5) =l 3 9T BT AW GaeHT R/ @l 7

el A weAl & ST A ¢ 15
(1) “wf ! %% U HEMI’ HF & X 704 981 ¥ faRaq |

(2) wEMI & YR WX & I 99a1 & IR § BRU |

(3) wsTRHT @1 g&y uiadd @i gorm ¢

(4) TS, g0 & X |yal B wWEnd o gt § faRaw |

(5) 9@g UE ITET d GRATIT JhY HIGTEL TS |
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SSC-03 : SANSKRIT CONTENT

(1AL UAS UrAlAL S5HL FAlEL @il
(1.1) @b ®ve: wE ola ?
(12) wae @fi: &Y @t ?
(1.3) ofem g wesfy ?

(1.4) wadi wer shrsefa ?

AAAL uaHil 519 URL AR wAleL dvll ¢
@2.1) sdls y[i s :

(2.2) QA wed-l AR s
@+ oy, T o+ g, T o+ gEH

(2.3) Ses yol s3

3% - 4 - g9 o
g Temafifer: RCASSIFIG

(2.4) xdl weeid vl :
T g@kg<d _ EEH

(2.5) A QAR AR SAH2UEL 2R GUAILL 53 Use ALSAH
3\ :

—  TET gear 98 IRa | (a)
= T e gwata | (@)
= e sam e | (F)

(AL wadlmigl S1SuelL el [gd G «vll ¢

(3.1) AL Wadlel Aol HMHL BriR L
(1) s s g sal ?

(2)  ueudsd onasl 5§ qd W S ?

(3) Wi Al UM QL.

(4) sty dusd ud g ed ?

(5)  Asaodl wenidl o vl wo & ?

12

15
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(3.2) AR s :

gwey f& a1 fqan ey I8 o9 |
FEEW TA= T @ fqEm 9 9g g7

(3.3) A 2ude 2Aaviz desdlHl CuNidR 53 ¢

LIEICISIC AL RIS CA G ICRHIR S IR N R R S
3TEBq | WIYTMA: U9 §: o9H SFTesd dedw<ii &isfu s d

i 7 omueda |

(3.4) A 2ula AvAA Agd wseHl @il ¢

30, 25, 45, 90, 81

(3.5) 02 20lal REaKA Al suui olsdl :
(1) @ Tg &4 979 orresd. |
2) @ ahoraw Riew demad o orrsqd |
(3) ET T WEIETE FUHE FHiuATeH SH |
4) @ (e) wEMEl FUbT FE dES GHUHE b |
(5) gfEa: Re: T=m a2 offdaseq |
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SSC-04 : ENGLISH CONTENT

1 Answer the following in short : 8
(1.1)  What condition did Tansen put before the king ?
(1.2)  Write four uses of solar energy.
(1.3)  Who is Mr. Bright ? What does he do ?

(1.4)  What is Halima not know about the old lamp ?

2 Answer any four of the following : 12

(2.1)  How can you get entry form ? Write the date and place of
the competition.

(2.2)  Why is Bamboo a wonderful tree ?
(2.3)  Why was Amit excited ? What was his feelings ?
(2.4)  What are the duties of a good citizens ?

(2.5)  Write pollutions and pollutants for the same.

3 Answer any three of the following : 15

(3.1)  Write an essay on — Today's Education System.

(3.2)  Write a short note on Science Day celebration in your school.

(3.3)  Fill in the blanks using words from the brackets :

(elephant, hippo, rat, rabbit, horse, deer)

(H A is smaller than a rabbit.

2 A is smaller than a horse, but bigger than
a rabbit.

(3) The is the biggest animal of all.

4) A hipo and an are heavier than a horse.

(5) The is the smallest of these animals.
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(3.4) Do as Directed :
(1) We appreciate the students' efforts.

(Insert suitable auxiliary verb)

(2) Obey the instruction. (Change the voice)

(3) The pen is Table.

(Insert suitable preposition)

(4) David is good at baseball. David does not like to play
baseball.

(Use suitable conjuction)

(5) Sheis than her sister.

(Pretty, prettier, prettiest)

(3.5)  Make sentences using given Smiley words :

Lonely, Confident, Board, Happy, Guilty.
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SSC-05 : MATHEMATICS CONTENT

1 1AL uAs usdl-l g5Hi walel 21U

(1.1)

(12)

(1.3)

(1.4)

17159 5 At-imi il v a3 apeiail Hadl qva
yelad o ?

2
(—15]-1 Avy v YR saldl.

GUISRLAL Ayl €121,

2 WAL 3x2 +13x +12.

2 AL uaHil SIOURL 4 WRLAL ofAeL M)

@.1)

2.2)

2.3)

(2.4)

(2.5)

AU : AW VA, dRUSIRAL $H-lL dR14 .
g 34 A (5x72)3 x 37 + (15572

A A=(x,y,z,w) 2\ B={a,b,c,x,y} & dl A 2usla

£1R dal d £35+1 A1RLRLLL 1A DL UL,

Ala-dl wuugl eradl »is su-dlul Wuugl edadl €iaq
6 $ALS, HASIA 10 sALs A WSl 15 sals AL 8. 21801y A1a
Al wofl 360 YUl adldl $& 2. 720 U8R Aad B, dl
g5 sedl sy woll s ?

M4 WA ¢ x2 +dx + 4 — a® — 2ab— b2

12
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3 A uaAmidl S5 wel 3 uadll [gd Falel 2l : 15

(1) ANIAROUY AGMEIBL A AUy AgrslRl 2ugl, vl i
[agMdl eeudl.

(3.2) s AousR 2isl-l Wl B 50 AL 244 -l Glus 100 Al
8. il 2isl Yyl 3l MRl B, 21 2l A AAIAL 5
(12 s 2al 32al 3 &3 wsiy ? (=3.14)

(3.3)  gagMIR 7500 3MuaL 1 ad Wi 8 251l 83 AF AU B, du-il
Ul ydloid deal o 3Mual, ddl o Hed HI2, dedl ¥ &3
Asqlg ly HBalL A5 H3ollul 43 B, dl slA 3eal 3Muul
qalR 4ol ? (uesidl MollHi e 82 &9 1A GAAY V)

(34) AL WS Held WA doud 2Udd 8. 88Ul Bs 20Ul 2341
AR 801 HeldHl A . 6lSl e SWQAAL UL 1oL €8
-4l 52 8. 611l A ML 3L 8QL HelAHL VLR 53]
&l 21 o8l adal 9 geL douaHi el Yl 8, dlL i dsuHl
sedl 8@l 8 ?

(3.5)  120°41 MUl vRuL - €120 A el ALl Qv
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ENGLISH VERSION

1 Answer the following questions in brief : 8

(1.1)

Find the smallest number by which 1715 must be multiplied to
obtain a perfect cube ?

2

(1.2)  Represent [_lgj on the number line.

(1.3)  Draw a specimen of Withdrawl form.

(1.4)  Factorize : 3x2 +13x+12.

2 Answer any 4 questions of the following : 12
(2.1)  Explain commutative property for Addition and Multiplication.
22)  Simplify: (5x72)° x 3x3)* = (15x%)2.

(2.3)  Draw Venn diagram for given sets and write union and intersection
for each set.

A= (x,y,z,w) and B ={a,b,c,x,y}

(2.4)  Dipesh, Mustafa and Prakash take respectively 6 hours, 10 hours
and 15 hours to make 360 measure scale in a company
manufacturing measure scale of steel. If all the three do this work
together, they get Rs. 720 as remuneration. How much amount will
each get ?

(2.5)  Factorize : x> +4x+4—a® —2ab—b*.
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3 Answer any 3 questions in detail from the following : 15

(3.1)  Give Figure, Definition and Characteristics of Parallelogram and
Rhombus.

(3.2)  The radius of base of cylindrical tank is 50 cm and its height is 100
cm. This tank is fully filled with kerosene. How many cans of 5
liters can be filled from this tank ? (7t =3.14)

(3.3)  Dhruvkumar lends Rs. 7500 at 8% rate of interest for 1 year. His
wife Purviben deposits the same amount at same rate of interest
and for the same time period at compound interest in Mahila Co-
operative society. Who will get more amount ? (In Co-operative

Society interest is added at every six months.)

(3.4)  There is a pond near a grass garden. From a herd of deers half of
deers are grazing in the garden. The half of the remaining deers are
playing with one another. Further, the half part of the remaining
deer are taking rest in the garden and 9 deers are drinking water

in the pond, then how many deers will be in the group ?

(3.5)  Construct an angle of measure 120° and write steps of construction.
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SSC-06 : SCIENCE CONTENT

1 A UAS ULl 254 walel AL 8

(1) slS3orn ays ellfas ol avil,
(2)  ugNSl Aed g 7 adl UslR wrudl.
(3)  umdl-l GuallidlL eldl.

(4)  Adida-l ol eudl d-d, s1d quil,

2 ARl S5 AR Wl gs UL 12
(1) sl odlge, del UsIRL 241 Gualoll eldl.
) WRAlayunL ey Ml g2l uidl B2sld 54l agld s,
(3)  ic:dl (a9 g5y quil.
@)  wdllzee arufapiinl sigsal audl.

(5) US4, FHlelL yuendl.

3 lRAdmidl 515 218 wadldl [Hgd adiel Ul 15
(1) sl dogHl ddl W5l asleiads 3Hatadl wueL qeldl.
) Ay Al saq-l B sugli €8 anendl.
(3) AR sl AL Al - 21 513 uglit 1A Rigia Al
@) Bgdaddl 2uslt €13 d-l il aslq 5.

(5) Ael L8 2us €3 -l Rigia, L 2 514 ugla
AH Al
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ENGLISH VERSION

1 Write all following answers briefly : 8
(1)  Write the physical properties of hydrogen gas.
(2) What are pollutants ? What are the different kinds of pollutants ?
(3) State the usefulness of protozoa.

(4) State the parts of human nervous system and the functions of nervous
system.

2 Write answers the following : (any four) 12

(1) How is glass prepared ? Mention the different types of glass and write
their uses.

(2) Describe briefly the constituents of petroleum obtained by fractional
distillation of petroleum.

(3) Write a short note on endocrine glands.
(4) Mentions the adaptations of hydrophytes.

(5) Explain the formation of nitrogen molecule.

3 Write answers of the following questions in detail : (any three) 15

(I) Describe an experiment of refractions of light through a rectangular
glass slab.

(2) Explain the process of fertilization in flowering plants with figure.

(3) Draw diagram of solar dryer and explain its principle, construction and
working.

(4) Draw a diagram of excretory system and describe its organs.

(5) Draw diagram of a simple telescope and explain its principle,
construction and working,
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SSC-07 : HISTORY CONTENT

1 oyl usHl sdraia O ¢ 8

(1. ‘Rrot QR0 gL 59 sMAAHL 21Ul scuMi 20l 8l ?
(12)  euRdul YUl s1e s112 a3 ad ?
(1.3) sl g Aysl A quil,

(1.4)  oduasd wdlaq sul AR 2aarl wReud oy ed ?

2 A S5 wRL ARAL Ao UL 12
Q.1 0 AH AR 112 59-55 Ud[ Sl &dl ?
(22)  ‘Adle’ Ayldd 5.
(2.3)  AAdaL AL HI2 A 8l AL ?
(2.4) Ul AL HIE VASSIRT, VHiglad g vy ?

(2.5)  udsaledl A0+ Al 5.

3 IR S19URL ARLHL AL L ¢ 15

(G.1)  ‘aed SReu’ 3 8 7 UNOl #3Ruld, &gl i 2ol

aulq 3.

(32) SR %R A2l 4y 8 A AHA $AL-5AL USIRA-AL A1H~AL 5L

gl edl ?
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(33) 4l -l @il :
(@) olHRel
(o) oA Ys
(34)  [Ralea AHAAL Vgl A slanl AHAAL Yl a2 9 dslad © 7
(3.5)  duedl uou-(l waleeldl § d ?
ENGLISH VERSION
1 All questions are compulsory and carry equal marks : 8
(1.1)  Which Committee was established by the Shikh Society ?
(1.2)  In India when was Supreme Court started ?
(1.3)  Write full name of Mr. Chandrasekhar.
(1.4) By which policy Bengal partition came out as a result ?
2 Attempt any four from the following : 12
(2.1)  Which activity 'Arya Samaj' did for the society ?
(2.2)  Define Nationalism'.
(2.3)  Why should the Judiciary be independent ?
(24)  Why did Gandhi withdraw the Non-cooperation movement ?
(2.5)  Discuss the effects of Terrorism.
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3 Attempt any three from the following : 15

3.1)

(3.2)

(3.3)

34)

(3.5)

What is "World Institution' ? Describe the need, objectives and
organs of UNO.

Which were the problems India had to face as challenges when it

becomes Independent ?

Write short note on these :

(@) The Constitution.

(b) The Battle of Buxar.

What are the differences between the farmers of British period &
present time farmers ?

What are the responsibilities of Member of Parliament ?
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SSC-08 : GEOGRAPHY CONTENT

YA : (1) Il GrR UL Yool Quil.

(2) R AL AV gl @i,

(3) oL o Ul sAdALd D,

1 (1AL uds usddl-l gsHi walel UL : 8
(1L1)  guMiA »ed g ?
(12)  gar ugdelell sy-sulL A0 3aly 8 ?
(1.3)  oclanL »ed 9 ?

(1.4)  iAa An14- 2ed g ?

2 1A wamidl 515 ueL AR (4) UsAlAL B M) ¢ 12
2.1 yedl-l uRAY By,
(22) Al Q16U $352 ed Y ? yHAAl.
2.3) ooyl [sledl caimeldl A4 udl.
(2.4) 3L usAnL Wstel{l viludl weldl.

(2.5) Mg A el Hewaddl 34 o He ol asy ?

3 A waAmidl S yelL ARl UsdlAl Ridd aler sl 15
G.D) ARl eyl AN 55-55 & ?
(32) ddlod ARl 21ed 9 ? dsl s1e1L ALl
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(3.3)

(3.4)

(3.5)

Instructions :

ugMel 212d 9 7 d«l UsRA Al 5.

(AL 26EL ANl :

(1)  yelael
)  dlelad
(3) el

NSWEL i AR A AL dsldd AHMAL.

ENGLISH VERSION

(1) Answer the questions as per required.

(2) Write the answer according to the marks.

(3) All questions are compulsory.

1 Answer the following questions in short : 8
(1.1)  What is climate ?
(1.2)  Which diseases are caused by air pollution ?
(1.3)  What is hydrosphere ?
(1.4)  What is human resource ?
2 Answer any four from the following questions : 12
(2.1)  Give introduction of Earth.
(2.2)  What is green house effect ? Explain.
(2.3)  State the benefits of a volcanic eruption.
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(2.4)

State the special features of habitat of cold regions.

(2.5)  Why is human resource considered the most important capital
of nation ?

3 Answer any three from the following questions in detail : 15
(3.1)  What are the special features of the land form of the Asia continent ?
(3.2)  What is global warming ? State its reasons.

(3.3)  What is pollution ? Discuss the types of pollution.
(3.4)  Explain the following :
(1) Lithosphere
(2) Population density
(3) Forest fire
(3.5)  What is the difference between Private sector and Public sector ?
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SSC-09 : ELEMENTS OF ACCOUNTANCY CONTENT

JAAL : (1) Usedlell G HidUL Hayol quil.

(2) oL % Ul S D,

(3) [Rsedl AnidlRs 8.

1 A UAS ULl 254 walel AL

(1.1)  QuReilg »ed g ?

(12) 51 s vARIAL L 2.

(13)  Godls ¥ ed g ?

(14) ¥R [Baell uglinl 515 vl 6 qaRll aeudl.

12

2 A w1 el 04 uadlAL gale 2L
@2.1)  s¥eR (Aol uglidl siaeizil arudl.
22) el gl ala@isdil aeudl.
(2.3)  AAARULLAL AL 2L
(24)  dslad RUAL : AU A A YL e,
(2.5) U8R A3 SU-l2L 3. 40,000+ B dxt wilg). F 2saalel

w3l 3. 2,000 9uL. €2 AN 5% AW g2dl ol sudll ugla uax

281 A Yl ARl 2Ridl 2.
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3

A1 uaHidl 51 uRL 03 Uadlel [Ragd %ael 2yl ¢ (0540l 03)

3.1)

(3.2)

(3.3)

5]l ugla 27 [l uglindl dslad amendl.

3l uHA 513 AJAY AAAAl HIZ dslad 3. 1,000 Guas
vid GaRRd 8. allls [Bael dur syl e 1A Yool ol

gl 2udl :

(1) 2l ud 2@ el 4 dL vid 3. 3,500

GuIRa 8.
(2) e HId YA lHHL AL 3. 800 Y AR 8.

(3)  uHWA vidld deflell Bladl ysdd 3. 600 URYRel
W vid GaRd 8.

@) oll-l WAl Hoa g 3. 1,200 dsll vild A% HI3L

Bid B ol vild AHL 53 8.

(5)  A3vsn AA HaHl Ay wle-dlaui 23d edl

3. 5,000.

(6) AW U sAUML 2ad d-{l diddl 84 3. 6,000 dA-il
vild vidqal-l €l g edl.

GuR~ll HUsdl vl oa YaRRI Y avil. Guas viig

AUR $.

1Al 21l salennanl 59 Ad Al ?
() R Haxdl 21s 3. 15,000.
(i) Hoalg eusl % 3. 3,500.

i) o068l ysda ML 3. 700.

15
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(3.4)

(3.5)

Instructions :

dslad UMl :

QuIl AL [l 1A BeQuid) e [Bael.

g5y quil :

Alg, Ul-L vad.

ENGLISH VERSION

(1) Answer the questions as per required.

(2) All questions are compulsory.

(3) Options are internal.

1 Answer the following questions in short : 8
(1.1)  What is Trading Account ?
(1.2)  Give one definition of Depreciation.
(1.3)  What is meant by Ublek amount ?
(1.4)  State the characteristics of accounting method of computer.
(any two)
2 Answer any four questions of the following : (04 out of 05) 12
(2.1)  Describe the benefits of accounting method of computer.
(2.2)  Explain characteristics of Deshi Nama.
(2.3)  Define Specimen of Promissory Note.
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(2.4)  Give a difference between General reserve and Capital reserve.

(2.5)  Maharaja & Co. purchased a machine at a cost of Rs. 40,000.
Installation cost to it was Rs. 2,000. Compute depreciation at 5%

under reducing balance method for first three years.

3 Answer any three questions of the following : (03 out of 05) 15

(3.1)  What is difference between Single entry system and Double entry

system ?

(3.2)  Shri Parmyjit has tallied his trial balance by debiting a difference of
Rs. 1,000 to suspense account and there after he has prepared
final account. After preparation of final accounts the following errors

are detected.

(I)  Goods of Rs. 3,500 returned by Meena is posted on debit

side of her account.

(2) Total of purchase return book is overcast by Rs. 800.

(3) Paramyit has paid Rs. 600 for his personal medical bill and

debited it in the miscellaneous expense account.

(4) Rs. 1,200 received from Beena for rent is posted to the

credit of her account as well as to rent account.

(5) Goods of Rs. 5,000 sold to Narendra is recorded in purchase
book.
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(6) Rs. 6,000 paid to Esha for repayment of loan is not posted

to her account.

From the above information pass rectification entries and prepare

Suspense Account.

(3.3)  How will you note the following details in Havalamel ?
(1  Remaining stock of goods Rs. 15,000.
(i) Interest to be received Rs. 3,500.

(@) Prepaid insurance Rs. 700.

(3.4)  Give differences :

Final accounts of Trading concerns — Final accounts of Not Trading

conceerms.

(3.5)  Write short note :

Going concern concept.
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SSC-10 : ECONOMICS CONTENT

1 (AL UASs Usldl 2511 g6l BN ¢ 8

(M

)
€)
)

sa 21 [sulla 2l BRIl ARAAL dsldd /M 53.
(A1SueL &)

RRdMl MRUs el e 32d & ?
WY Olrsel s1dl SsML uHAAL

sl HEas o & 7 wgl 20ml.

2 AL uaAHiEl S1S uRL ARAL GdR U 12

(D
@)
&)
)
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ENGLISH VERSION

1 Answer the following questions in short : 8

(I)  Wirite difference between unemployment in developed and developing
countries. (any two)

(2) What is the measure of absolute poverty in India ?
(3) Explain the functions of a central bank in short.

(4) What are the various indicators of economic development ?

2 Answer the following questions : (any four) 12
(1)  Explain per capita income as an indicator of economic development.
(2) Explain the types of money.
(3) State the difference between a commercial bank and a central bank.
(4) Explain employment oriented programme for poverty eradication.

(5) Narrate the reasons why problem of unemployment occur in India.

3 Answer the following questions in detail : (any three) 15
(1)  Explain the usage of internet technology in the study of economics.
(2)  Define unemployment. Give detailed information about its types.
(3) Define barter system and explain limitations of barter system.

(4)  What is monetary policy ? Explain in detail the qualitative instruments
of monetary policy.

(5) What is poverty ? Explain its indicators.
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SSC-11 : BUSINESS MANAGEMENT &
ADMINISTRATION CONTENT

YA (1) oHl o Ussl srUld 8.
2) [Rsedl xnidlRs 9.

1 (1AL uds usddl-l gsHi walel 2L 8
(1.1)  Mima AAHA AA1a ved g ?
(12)  sialdalR AaReldatxdl 218 20l
(1.3) &Rl Hiedl siell xeudl.
(14) sl ¢l 2ed g ?

2 (1A usAidl 1S vl AR UslAL G Bl 12
@2.1)  eRaelld Hst aRudl.
(22)  AAdAnL RgidiAl Hea 2190 Al s,
(2.3) AR Adll LRl ARuAl,

24) ‘Al wAln © uig d-dl dRe1dl ay wala 8.7 R
AUAl.
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(32) A Ved g ? a-dl q&rl uundl.

(3.3)  ARAMR0 v AnAl.

(3.4)  HUSL AARAL e 2] d-l cdialRisdizll quendl.

(3.5)  dl ed g ? d-dl vidlRs A sl WAl Anoal.
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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Options are internal.
1 Answer the following questions in brief : 8
(1.1)  What is human resource management ?
(1.2)  Define functional organization.
(1.3)  State the reasons for recruitment.
(1.4)  What do you mean by profit-sharing ?
2 Answer any four of the following questions in short : 12
(2.1)  Explain the importance of Direction.
(2.2)  Discuss about importance of the principles of Management.
(2.3)  What are the qualities of a good leader ?
(2.4)  "Training is expensive but its absense is more so." Explain the
statement.
(2.5)  Explain functions performed by top level management.
3 Answer any three of the following questions in detail : 15
(3.1)  Draw a diagram of different levels of management. Also explain
its functions.
(3.2)  What is planning ? Explain its characteristics.
(3.3)  Explain importance of delegation of authority.
(3.4)  Define Communication. Explain its characteristics.
(3.5)  What is recruitment ? Discuss in detail the internal and external

sources of recruitment.
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